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2P 4+ 1 = 2(510510n + 432617) + 1 = 10210200 + 865234 + 1 = 10210201 + 865235
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P = 510510n + 432623

2P + 1 = 2(510510n + 432623) + 1 = 10210201 + 865246 + 1 = 10210201 + 865247
0000010210200 20 2003,5,7,11,13,17000000 1000000
865247 = 865247 x 1
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2P 4+ 1 =2(510510n + 432631) + 1 = 10210201 + 865262 + 1 = 10210201 + 865263
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865263 = 3 x 7 x 41203 x 1

oooo
2P + 1 = 21(48620n + 41203)
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Q=4326370000
P = 510510n + 432637

2P 4+ 1 =2(510510n + 432637) + 1 = 1021020n + 865274 + 1 = 10210201 + 865275
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2P + 1 =2(510510n + 432643) + 1 = 10210201 + 865286 + 1 = 10210201 + 865287
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2P + 1 = 2(510510n + 432659) 4+ 1 = 10210201 + 865318 4+ 1 = 10210201 + 865319
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2P +1 = 2(510510n + 432661) + 1 = 1021020n + 865322 + 1 = 1021020n + 865323
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P = 5105100 + 432673

2P + 1 = 2(510510n + 432673) 4+ 1 = 10210201 4 865346 + 1 = 10210201 + 865347
0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=4326830000
P = 510510n + 432683

2P + 1 = 2(510510n + 432683) + 1 = 10210201 + 865366 + 1 = 10210201 + 865367
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Q=4327030000
P = 510510n + 432703

2P + 1 = 2(510510n + 432703) 4+ 1 = 10210201 4 865406 + 1 = 10210201 + 865407
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2P + 1 = 2(510510n + 432709) + 1 = 1021020n + 865418 + 1 = 1021020n + 865419
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P = 510510n + 432713
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Q=4327210000
P = 510510n + 432721

2P 4+ 1 =2(510510n + 432721) + 1 = 1021020n + 865442 + 1 = 10210201 + 865443
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P = 510510n + 432727

2P + 1 =2(510510n + 432727) + 1 = 1021020n + 865454 + 1 = 10210201 + 865455
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865455 = 3 x 5 X HT697 x 1
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P = 510510n + 432737

2P + 1 =2(510510n + 432737) + 1 = 1021020n + 865474 + 1 = 10210201 + 865475
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P = 510510n + 432739
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Q=4327430000
P = 5105100 + 432743

2P + 1 = 2(510510n + 432743) 4+ 1 = 10210201 + 865486 + 1 = 10210201 + 865487
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Q=4327490000
P = 510510n + 432749

2P + 1 = 2(510510n + 432749) + 1 = 10210201 + 865498 + 1 = 10210201 + 865499
0000010210200 20 2003,5,7,11,13,17000000 1000000

865499 = 865499 x 1
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2P +1 = 510510m + 354989
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P = 510510n + 432763

2P + 1 =2(510510n + 432763) + 1 = 10210201 + 865526 + 1 = 10210201 + 865527
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2P + 1 = 2(510510n + 432767) 4+ 1 = 10210201 + 865534 + 1 = 10210201 + 865535
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P = 510510n + 432779
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2P 4+ 1 =2(510510n + 432781) + 1 = 10210201 + 865562 + 1 = 10210201 + 865563

0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=4327930000
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2P + 1 = 2(510510n + 432793) 4+ 1 = 10210201 4 865586 + 1 = 10210201 + 865587
0000010210200 20 2003,5,7,11,13,17000000 10000000

865587 = 3 x 288529 x 1
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Q=4327970000
P = 510510n + 432797

2P + 1 =2(510510n + 432797) + 1 = 10210201 + 865594 + 1 = 10210201 + 865595
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865595 =5 x 233 x 743 x 1

oooo
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Q=4327990000
P = 510510n + 432799

2P + 1 = 2(510510n + 432799) 4+ 1 = 10210201 + 865598 + 1 = 10210201 + 865599
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865599 = 3 X 7 x 47 x 877 x 1
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O00o0obO0o0obo21000000000b000o0bO00oO0DO0o0DbO0o0obUobDoOoDbOOobODbOoo
good

Q=4328110000
P = 510510n + 432811

2P 4+ 1 = 2(510510n + 432811) 4+ 1 = 10210201 + 865622 + 1 = 1021020n + 865623
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P =510510n + 432821

2P + 1 = 2(510510n + 432821) 4+ 1 = 10210201 + 865642 + 1 = 10210201 + 865643
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865643 = 865643 x 1
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2P + 1 = 510510m + 355133
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Q=4328270000
P = 510510n + 432827

2P + 1 = 2(510510n + 432827) + 1 = 10210201 + 865654 + 1 = 10210201 + 865655
0000010210200 20 2003,5,7,11,13,17000000 10000000

865655 =5 x 7 x 24733 x 1
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P = 510510n + 432829
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oooo
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Q=4328330000
P = 5105100 + 432833
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865667 = 11 x 78697 x 1
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Q=4328470000
P = 510510n + 432847

2P 4+ 1 = 2(510510n + 432847) + 1 = 10210200 + 865694 + 1 = 10210201 + 865695
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P =510510n + 432851

2P + 1 = 2(510510n + 432851) 4+ 1 = 10210201 + 865702 + 1 = 10210201 + 865703
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865703 = 71 x 89 x 137 x 1
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2P + 1 = 510510m + 355193
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P = 510510n + 432853
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=4328770000
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2P + 1 = 2(510510n + 432877) 4+ 1 = 10210201 4 865754 + 1 = 10210201 + 865755
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Q=4329070000
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865815 =3 x 5 x 197 x 293 x 1

0ooo
2P + 1 = 15(68068n + 57721)

oobooboooobooooooooobobooobooboobUoobobooooboobOoo
googd

Q=4329110000
P = 510510n + 432911
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